Answers:

1.Cx<7
2.a) no b) yes
C) yes d) yes
3. A 2x—-5<7-CGraphll B 9x > 3x — 36 - Graph IV
C 2(3x —5) <32 - Graph lll D 8(—5x —3) < 256 - Graph VI
4. Graph|: {x|x < 6;x € R} ; (—=,6] Graph Il : {x|x < 6;x € R} ; (—0, 6)
Graph il : {x|x < 7;x € R} ; (—0,7) Graph IV : {x|x > —6;x € R} ; (—6, )
Graph V : {x|x > 6;x € R} ; (6,») Graph VI : {x|x = =7;x € R} ; [-7,0)
5.a) {x|x <11;x € R} ; (—,11] b) {x|x = 12;x € R} ; [12,00)
C) {x|x>—%;x€R};(—%,00) d) {x|x > —5;x € R} ; (—5,0)

6.0){x|x <—4orx=>0;x €R} ;(—0,—4]U[0,0)
b) {x|-7<x<3;x€R} ;[-73]
C) {x|x<—§orx>§;x€R};(—oo,——)U(E,oo)
d){x|—§<x<%;xER};( > 3)

2’4

7.0){x|-5<x<2;x€R}; (-52) b) {x|]x < —50rx = 3;x € R}; (—00,—5] U [2,0)
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